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Two wires are of length respectively 58 m and 86 m. These wires are joined
together to make a sq uare field. What is the cost of plowing the square field at

the rate af Rs. 4 m=<;
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The area of two similar triangles are 9 sq m and 36 sq m, respectively. If the
height of one triangle is 24 m, then the height of the other one is
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The income of A |s‘ more than the income of B and the_ir IHGDITIE of C is 60%
less than the sum_of the incomes of A and B. The income of D is 20% more than

that of C_If the difference between the incomes of B and D is Rs. 13200, then

the income (in Rs.) of C is:
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Divide 27 into two parts in such a way that 5 times the first part and 11 times the
second part both together are equal to 1995, then the ratio of the first and second
pa

27'a?ra3rwﬁﬁsa JPR TAHIS IS 1o g W@Tﬂaﬁ?ﬁmfﬁf

-

11 TET SIFI AR 195 & aRI6R 81, Al Ugd 3R AR U B 3-Uld ©

% @

(§3) + o =14¢
N/ ]




(o) WMatkendra || > POLICE miraasi,/ UP azaars |

The sum of two numbers is 36. Their H.C.F. and L.C.M. are 3 and 105
respectively. The sum of reciprocals of those two numbers will be
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The ratio between length and breadth of a room is 3 : 2. The cost of coloring all

four walls at 50 paise per sc 45{] If theler th of the room ig 15 m, find
the height of the room? /“
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Find the greatest number by which 43 91 and 183 are divided, leaving the
same remainder each time.
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A circular disc of are‘ 2 rolls down a distance of 1.98 km. Find the number

N—

of revolutions required by the circular disc to complete the distance?
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There are 20 hens, 15 cows and some cowherds in a field. If the total number of
feet of all is 80 more than the total number of heads of all, then how many
cowherds will be standing there?
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A mechanic purchased a 2"9 hand bike for Rs. 22,500. Rs. 1,000 spent on
repair and Rs. 800 for transportation charges. What must be selling price of bike

in order to earr@@?
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If area of rhombus is 100 cm? and one of its diagonal is twice of other, then find
the value of bigger diagonal.
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what is the difference between the mean and median of set S = (3.2, .7( 8

14, 19, 93)?
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(A)lv{/Qw d_\ a Aum In A sum of ¥ 1750 is divided intg g parts such that
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Two numbers are in the ratio of 3 : 5. If 9 is subtracted from each then they are
in the ratio of 12 : 23. Find smaller number.

Gl RANU 3 : 5% U H gl dlc 9 DI YD AU Sldi g dld 12: 23 &
3uTd H gl g | BTt 9T J1d DIforg|

3)
b) 5
c) o
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The L.C.M of two humbers is 63 times their H.C.F. If the sum of H.C.F and
L.C.M is 320 and one of the humber is 45, then the other is

Gl AT DT dYdH JHIIH, HgdH JHUIAD DI 63 -l © | HgdH JHHIddD
3R TYTH JHYT 1 IINT 320 ¢ | Alc TATH H Ub 45 ©, dl G-I 1 DI

a) 35
b) 40
C) 42
d) 49




(o) WMatkendra || > POLICE miraasi,/ UP azaars |

Mean of an observation is 3.5 times of mode. If median is 8. What is the mode
of observation.
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Find the second smallest 3 digit number divisible by 7, 11 and 33 leaving
remainder 6 in each case.
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A and B enter into a partnership with Rs. 50,000 and Rs. 60,000 respectively. C
joins them after x months contributing Rs. 70,000 and B leave x months before

the end of the year. If they share the profit in the ratio of 20 : 18 : 21, then find
the value of x.

A 3R B U 50,000 39T 3{R 60,000 3UY & 1Y TH Ir3icRl § Ud Hd 6|
C. 70,000 3UY & TG PP X HolH & §1¢ 344 AMAA 8IdT © 3R B I8 & 3(d

A x Hol- Ugd ®IS ¢dl gl Afc d A4 &1 20 : 18 : 21 & 3-UId | dicd o, dl X DI
T J1d IfSTU|

a) 12
b) <
C) s
d) o




(o) WMatkendra || > POLICE miraasi,/ UP azaars |
The median of the following observations is: 37, 31, 42, 43, 46, 25, 39, 43, 32

FaferRad Ueun &t A1feI®T o: 37, 31, 42, 43, 46, 25. 39, 43, 32

a) 37
b) 38
C) 3o
d) 21
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The length and breadth of a rectangular piece of land are 26 m and 45 m
respectively. The cost of the land is per 5 m? of the land costs Rs. 65. Find the
cost of land.
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a) Rs. 15210
b) Rs. 15000
C) Rs. 15200

d) Rs. 14290
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A total of 324 notes comprising of Rs. 20 and Rs. 50 denominations make a
sum of Rs. 12450. The number of Rs. 20 notes is

Dd 324 Ale fORTH 20 39 31 50 $UYY Hed & Dl 12450 YU ¢ | 20 BT & |
ﬁﬂ@ﬂ%

a) 200
b) 144
c) 125
d) 1o
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The area of a parallelogram is 960 cm?. The ratio of its adjacent sides is 5 : 8. If
the altitude on the bigger side is 20 cm, then find the altitude on the smaller
side?

Uh JHIAR IqUSl &1 &b 960 YHIZ 1 $D Jay YISl DI 3Uld 5 : 8 gl Al
oI YOIl TR IAIL 20 JH 5, Al BT Yol UR IAAL F1d Diford?

a) 36
b) so
C) =4
d) 22
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The area of a circular hall is 154 hectares. Find the cost of fencing the hall at
the rate of 50 paise per meter.

Uh gl gl Dl AABd 154 o AR g1 50 U Uid Hiex Bl &R d gld d €18
ST I dNTd I1d DifoIY |

a) Rs. 2200
b) Rs. 2000
C) Rs. 1500

d) Rrs. 1800
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If the roots of a quadratic equation are 20 and -7, then find the equation?

gfc U fgurd JHIPHRUI & Hd 20 3R -7 B, dl GHIDRUT JTd HITo1U?

a) X2+ 13x-140=0
b) X2 -13x + 140 = 0
C) x2-13x-140=0

d) x2 + 13x + 140 = 0
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When two values of data are changed, the mode of the data changes from 31 to
45. What will be the new mean of the data if the mean with unchanged values
was 52 and the median remains the same?

o 3[Pps| & ol HHI &I gad (¢l SIdl g, dl 3P| Bl dgdd 31 J 45 5l SIIdl g |
bl BT 741 HI€T 1 BT Afe fuRafdd AHEI ardr A1ed 52 4T 3R AT JHMH
gl 87

a) 30
b) 45




